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1. GIEAEaYE o e I
(a) 1 YR A A TS R
(b) TTE 60% WP MAT 3.
() 24 guTon (fam) T favm geaTen un SR,
FTUH! FIVRT faUH SRS 3R ? Eeie Wiy 9 b e
(1) e (a) SIS L, (2) W (b) M (¢) S 1=,
(3) T (a) IMOT () T AR (4) TUSYH FORERET TIT SIS ARG
Consider the following statements about Sundarban.
(a) Itis spread across India and Bangladesh.
(b)  60% of its area lies in India.

(¢) 24 Parganas (South) Forest Division is part of Sundarban.

Which of the above statements are true ? Choose the correct option from the following

options.
(1) Only (a) is correct. (2) Only (b) and (c) are correct.
(3) Only (a) and (c) are correct. (4) None of the above

2.  UfE I I vy fofes ame?

(a) =R (by fafawn € o=m (d) fafemn
it I

(1) = (a), (b), (c) (2) = (a), (b), (d)

(3) P (a), (¢), (d) (4) FH (b), (c), (d)

Which books are written by R.C. Dhere ?

(@) Chakrapani (b) Trividha (<) Laja Gouri (d) Vichitra
Answer options :

(1)  Only (a), (b), (c) (2)  Only (a), (b), (d)

(3)  Only (a), (c), (d) (4)  Only (b), (c), (d)
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3. ‘efvaeR daan e fam! (TR A LR, T faymr faER w5
(a) ST 2016 FEA YA AT T T HATH.
(b) 91 e 35 T HITHE 3T
(c) WY A=l FHIEY Y ey wade fafa fFeao em ger o,

(d) &omes anf A ferfd fommien daqm wareR fefsm 39 &1 a1 e |afq g@=

ERARlc
SUBYHT HIVET U SUET TR/ 3R ?
(1) e (a) 37fr (b) (2) 9B (a) A (c)
(3) S (a) O (d) @ wd

Consider the statements about “‘Missile Technology Control Regime’ (MTCR) group.
(a) India became the member of the group in june 2016.
(b) 35 countries are members of this group.

{c) It is the first tme that India has been included in such an International level export
controlling grou)j.

{d) The prime aim of the group is to control the spread of missiles and pilotless aeroplane
technology.

Which of the statements given above is/are correct ?
(1) (a) and (b) only (2) (a) and (c) only

3) (a) and (d) only 4) Al
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(1) Efem wew fwd sifrsrm

(2) Ferhe w9 e SmEeeE

() Iewe WiEdfes fad siamsee

(@) < T fad st

ISRO stands for :

(1) Indian States Research Organisation

(2) International Space Regional Organisation
{3) International Scientific Research Organisation

(4) Indian Space Research Organisation

uos

g FUA I -

(a)  FAMTER G AT o 4% e,

) faeT 1970 72 Ufem fETeess wevrt ae.

() R 3w Ifew 9 Ui FHYE 81 3.9, =41 STHE 3R
gt 9

() %= (a), (b) (2) K (a), ()

@ ®H (b), () (4) =@ wd

Select the correct statements :

(a) The headquarters of European Union are at Brussels.

(b}  Britain joined the European Union in 1970.

(c) Court of Justice and European Commission are sub-institutions of EU.

Answer options :

(1) Only (a), (b) @ Oony@) @
(3) Only (b), () (4) All of the above
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6. % ‘ez Peiaraw 23 At s faumian R
(a) Al Berdifee, Wretd Fifeed Fin FvaTE Fo.
(b) ‘wfeca faemg’ anfor ‘g weftor’ 41 wkien o SOl @,
(c) ‘wfec SrFRH RN A I HIOA ST .
(dy ‘&t f5E - 337 anftn fawm’ 91 AT STETSAT QAR HTeAIgE o= Jo Fe.
o faumiiest SO faam st 3 ?
(1) 9@ (a) S (o) (2) ¥ (a) 3 (c)
(3) %aB (a) AT (d) (4 wd
Consider the statements about late ‘Ramchandra Chintaman Dhere’.
{a) He studied the folk literature, ancient literature.
(b) He passed the 'Sahitya Visharath” and ‘Rashtrabhasha Pravin’ examinations.
{c) Received ‘Sahitya Academy Puraskar’.
(d) Died before publication of his last book ‘Shree Nrusinha - Uday and Vikas'.
Which of the above statements are correct ?
(1) (@) and (b) only (2) (a)and (c) only
(3) (a) and (d) only 4) Al

7. T 3T wIfEn gfeen nieet qEEsE Hio?

(1) W g (2) R
(3) femsg 4) ¥ g
Who is the first woman Chief Minister of Jammu and Kashmir ?
(1) Razia Sultan (2) Mehbooba Mufti
(3) Hina Bhatt (4) Sheikh Hasina
8. TAVIE oW Sd e 7 foree gem 1 A 3T ST,
(1) TemE (2) TRUH
(@) M (4) TERfEOn
Haryana’s internationally famous district Gurgaon is currently known as
(1) Gadegaon (2) Gurudham
(3) Gurugram (4) Gurudakshina
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9. f& 2171072015 s, SR g5, 2012 - 13 =t ‘ ForErssadt wiETTs " 7 ®i" Jr<esd ikt ot

&

(a)
(b)
)
(d)

‘e TiRa’

THarst

[SRELSIED
iﬁwi

it 39¢ :

1)
(2)
(3)
4)

(a)
(i)

(i)
(iv)

(@)

@

@
(@

(i)

() TE gEE
(i) 9 fave

(i) ¥ SIS
(iv) T SinTER

@
(v}

Match the ‘Shivchhatrapati Awards’ of 2012 - 13, declared on 21/10/2015, and

recipients :

(a)
(b)
()
(d)

‘Jeevan Gaurav’
Shooting
Gymnastic

"Jeejamata’

Answer options :

ey
(2)
&)
(4)

(a)
(i)
(i)
(iv)
@

(b)
D)

(iv)
(i)
(i)

() Rahi Sarnaubat
(i) Ramesh Vipat
(i) Nandhini Bongade

(iv) Roma Jogalekar

(d)

(iv)
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10. HFY FYH/ 5 i
(a) Tt srifelmes wer 207 da wevrit e,
(b) fian sl wr=e SgHET THRYM F9HH 950 A fauaer == FHoam e,
() 31 = Hffeios @™ THERE AASTH FOAE S

qarEr I
(1) W (a), (b) (2) wH (a), (0
(3) W (b), () @) =t wd

Select the correct statement/statements :
(@) 207 teams participated in Rio Olympics.

(b) During the inauguration ceremony of Rio Olympics the issue of climate change was

discussed.
(c) 31% Olympic games organised in Brazil.
Answer options :
(1) Only (), (b) (2) Only (a), (9
(3) Only (b), (c) (4) All of the above

11, 88 =1 FHICH! HATSH®) * sfep Tiaifoe’ fasid famve a @@= y&r ardE) ot &1 :

(a) TEIFE W 9 fasge () it
(b) TaEF= s oy faane (i) T A TS
(c) walge fFmeeE firm (i) HR L
(d) el gy (iv) FTEES 37T
Tafdt 397

(@ (b) (o) (d)
(1) @) @) Gv) (@
@ O @ @) v
(3) Gi) (v () G

4) (v) @ @ ()
Match the ‘Oscar’ winner films and their categories in 88" Academy Awards :
(a) Best Foreign Language Film (i) Amy

(b) Best Animated Short Film {ii) Son of Saul
(c) Best Animated Feature (iii) Bear Story
(d) Best Documentary Feature (iv) Inside Qut

Answer options :

@ ® () (d
(1 @ @ (@) 6
(2 @ @ @) av)
@) @) (@v) @) (@)
@) @) @ (@) (@)
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12. 2016 FL Gttt Ho0 e Teogy Y= T e ?

(1) o fom fag (2) Tz S

(3) T geenvae W (4) SAT . Fsh owng

In July 2016 who among the following resigned from Rajyasabha membership ?
(1) Navjoyta Singh Siddhu (2) Narendra Jadhav

(3) Dr. Subramaniam Swamy (4) Chhatrapati Sri Sambhaji Shahu

13. 2014 9 2016 I1 FHEYT FoHHl 3= FEEAHE &7 Enis S 2 2

(1) G (2) L g SR

3) = =t =T (4) = foo sregEiean
Who was the Chief Justice of Kolkata High Court from 2014 to 2016 ?
(1) Sujata Manohar (2) Dr. Manjula Chellur

(3) Dr. Rajni Patel | (4) Dr. Kiran Ahluvalia

14. ‘99’ FEd qReta wud faum e
(1) TR TN Ters fam R,
(2) 3.8 2003 9 TP TaUEH TS faer! Iy FiF e 38 TS S
(3) @I W 3000 fRoEe IR,
@) 'fm-27" T oo fammrt s o
Which of the following statement is not correct about “Tejas’ ?
(1) Fighter plane made in India.
(2) Was named as “Tejas” in 2003 by the then Prime Minister Atal Bihari Bajpeyi.
(3) It has a range of 3000 kilometers.

(4) It will replace ‘Mig-27" fighter aeroplane.
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15, Affead Fiwet I SR Uy fods sne?

() T A (b) e fow

(0 uEI= (d) W AR
a3

(1) % (a), (), (o) (2) % (), (b), ()
(3) W (), (o) (@) @ W (b), (0), ()

Which books are written by Alvin Toffler ?

(@) Future Shock (b) Power Shift

(c) Third Wave (d) Future World
Answer options :

(1)  Only (a), (b), () (2)  Only (a), (b), (d)

(3)  Only (a), (c). (d) (4)  Only (b), (c), (d)

16. YRAE ToaueAA fafyan oot 70 faumad=t S Sred aveg 9@ fadt o ?
(1) 550 (2) 250 (3) 100 (4) 500

What is the maximum number of members in a State Legislative Assembly fixed by the
Indian Constitution ?

(1) 550 () 250 (3) 100 @) 500
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17. T SR ST SO0 JOYd B9 o MINEHIN® (SHHEtto hoH diedl Sirsdl e :

H Hq
( oRe TR ) (o™ )
(a) THERTEHR Il (i) HSH 28
(b) ifaa smfor sxferma Tz & (i) o 14
() wifife @ra= (iii) HOH 25
(d) Sefor daind aiffs g (iv) od 21

g I
(@ (b) (o) (d
M O @ @) @)
(@ @ (v (@) @
@) @ O @) @
@ (v @ @
Match the following pairs regarding Fundamental Rights of foreigners and articles in the

Constitution :
A B
(Fundamental Rights) (Articles)
(a) Equality before law {i) Article 28
(b) Protection of life and personal liberty {ii) Article 14
(c) Freedom of Religion (iii) Article 25

(d) Religious Education in Educational Institutions {iv) Article 21

Answer options : .
@@ () (© @

O 6 @ @ )

@ G @) () @

Gy @) @ @v) @)

@ (v @ @ W
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18. it @& - (faur uftwe) -

<
(a) UZEATR HaRREH (i)
() faurmw aeiER fas (i)
() Ve Ty (i)
(d) et Tt (iv)
it I ;

@ ® (© @
1 (@ @) @)
) () (v) @ (i)
3) G(v) @@ @ @
4 ) @ @ (i)

Match the pairs - (Legislative Council) :

(@)
(b)
©)
(d

A
Graduates Constituency
Elected by Legislative Assembly members
Nominated by Governor

Quorum of Council

Answer options :

1)
@
3)
(4)

@ (k) (@
@ @D @)
(i) (v) (@ (i
(iv) (i) @) @)
(v) () () (i)

—
™)
—

1/10 "=
1/12 9
1/3 9=

1/6 94

B
(i) 1/10 members
(i) 1/12 members
(iii) 1/3 members
(

iv) 1/6 members

THeeAT THMMEIS SR /SPACE FOR ROUGH WORK
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19, 73 o1 WRAGEN FIMEIIER YaEa TN S fHasumn sefavamie) S wH fidl samata
FETIF 3R ?

(1) 2599 (2 18=d (3) 21°% (4) 309

According to 73" Constitutional Amendment Act, the minimum age for contesting the
Panchayat Raj Elections is :

(1} 25 years (2) 18 years (3) 21 years | (4)y 30 years

20. TEYTECS SEETE! HTY I 2
(a) ERUE, UiTE anfo A H E MY I W 9Ie 1R
(b) TG T Foedl STHIH TRgere 30% a1 TrdamEdel fied.
(c) Tafay drmiea sinoaaEINE! TS T SRR <9,
T wata fraer
(1) (@ @ (2) WH () @) (@) © (4) 0o wd

What are the sources of income of the Gram-Panchayat ?

(a) Main income sources of the Gram Panchayat are House Tax, Water Tax and Tax on
Pilgrimages.

(b) It receives 30% share in the land revenue collected from the village.
(¢} Itreceives grant from state Government for the implementation of various schemes.

Select correct option :

1) @) O (2 Only (b) G) @ © (4)  All the above
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21. ‘URY Srpde AT SR @l U SR STed IV (T S e ?

(1) e 3| B9HEET Y] THUTS HTdw.

(2) A YA JHHTHRE BIke FIYHN Ve 3eid 96 Hidl Ja el

3) ‘'S= =’ AaEfiewEgd (ad T = S 9 SR s sewivE ueyad
F A9 TR

(4). TS TN STHUTATE Yar aged e F% wEan, g SSaniE SRR ReTs
T 3R,

Regarding the provisions to ensure the independence of “State Public Service Commission’,

which statement is not correct ?

(1) The Chairman and members are appointed by the Governor of state.

(2) Conditions of service cannot be varied to their disadvantage during the term of
service.

(3) Cannot be removed on the charge of “Misbehaviour’ unless investigated and proved
guilty by a ‘High Court Judge’.

(4) Governor can suspend the guilty but dismissing authority is President of India.

22. AR FYA/FYA sl
(a) 42 =T TSGR ViAUFHE HOYd Hded TS F0AN el
(b) 86 T FSTGEIGH HAUMM 11 F Fded (K) THITTS FIOAWT 1.
it 36y
(1) T HYF (a)
(2) TR U (b)
(3) T FEH (a) IV (b) TR A
(4) T FGA (a) ST (b) it 3T

Select the correct statement/statements.

(a) Forty second Constitutional Amendment added Fundamental Duties to the
Constitution.

(b) Eighty sixth Constitutional Amendment added eleventh duty (K) to the Constitution.
Answer options :

(1) Only statement (a)

(2) Only statement (b)

(3) Both the statements (a) and (b) are correct

(4) Both the statements (a) and (b} are incorrect

el HIMMEEE S /SPACE FOR ROUGH WORK




A

23. NG HERES T | @ S0 98 Jien Sieul e

1)
@
3)
O

(iv)
()

(i)
(i)

(iv)
(1)

(iv)

15

L}
(T oY )
(i) 2000
i) 1987
(iii) 1972

(iv) 1963

uos

Match the following pairs regarding the states of Indian federation and their establishment

year :

(a)
(b)
(©
(d)

A

(State)

Nagaland

Manipur

Goa

Jharkhand

Answer options :

(1)
(2)
)
(4)

@
@)
0

i

(i

(b)
(i)

(©
(i)
i)
0

(i)

B
(Establishment Year)
(i) 2000
(i) 1987
(i) 1972
(iv) 1963

(d)
@
(iv)
(i1)
(i)
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24, 3vEFT fauE e
(1) wel=a FEERYEY FiE 34 AT g1 dAvew Ied AR,
(2) = I FAMY R AR 3T IR,
(3) oI I AN i SH=Er) snte gui fsen st
(4) S HEEErE YO AR (g Uyt 8 YRArea Yo e Sew- THeditial
EZGIGR
Select the incorrect statement :
(1) Like the Supreme Court, each High Court is also to be a court of record.
(2) A High Court Judge may be a citizen of India.
(3) Every High Court has full control over its staff.

(4)  Chief Justice of the High Court is appointed by the President after consultation with
Chief Justice of India.

25. W faum faarm =
(a) eI o9 AU IR TOAT Ufie 1994 THA HEvaE A,
(b) ToF faumayT 989 wenfis @iy Se=an fague wd ¥ 150 HasT® s Te s

ey _
Fi@tw! S /T fauE/A wET IR/ ?

(1) ™% (a) (2) ™ (b)

(3) (a) 3 (b) (4 s TE

Consider the following staternénts :
(a) The Maharashtra State Election Commission was established in April 1994.

(b) The main duty of the State Election Commission is to conduct the election of State
Legislative Assembly as well as Local Self Government.

Which of the statement/s given above is/are correct ?
(1) Only (a) (2)  Only (b)
(3) (a)and (b) (4) None of the above
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26, fafeyit Faum0 agE FOIEE FIRT TEd= R FO ?

(1) wEER anfor e (2) HER anfil TaRrd

(@) AR o SRRt (4) TR Infon [aard

Which are the methods British adopted to recover Agricultural dues ?

(1) Zamindari and Rayatwari (2) Zamindari and Watandari

(3) Rayatwari and Jagirdari {4) Watandari and Rayatwari
27. WHIM GUR FSA Gl TR BIeeIgUd HSh{aoil B

(1) HiHa SRy (2) TSI vIg WeWs

(3) N foars weow (4) drva srafen @

The Flag of social reform movement in Kolhapur was listed by _

(1) Shrimant Appasaheb (2) Rajarshi Shahu Maharaj

(3)  Shivaji Maharaj IV (4) Shrimant Jaysingh Rao

28. TSt A Sl it

(1) v St - TEIRER

(2) ot A - = e

@)  ErmE s - 35 afafrm
(4) R e - e

Identify the correct pair :

(1) S. Banerjee - Rast Gofter

(2) Annie Besant - New India

(3) Dadabhai Naoroji - Indian opinion
(4) Mahatma Gandhi - Bengalee
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29. Yfewt fooeR vl T Heg HEFPRATGH! ey

18

(1) Fow e )
(3) WIHS Hhe (4) W@ qThe
The first electricity operated Tram was from Mumbai Municipal Corporation Main office
to ;
(1) Colaba Market (2) Fort Market
(3) Crowford Market (4) Bhaykhla Market
30. fofewidt ST wmeyi Yuwor :
(a) fafee Wfasr w1 1861
(b) IfeE de =i 1858
(c) it SERAm 1859
(d) =TGR I = 1880
Qi 3
@ b © @
M O @ @
@ @ 6 @ W
@ @ O @ @
@ ) @ 6 @
Britishers has done this Constitutional Development :
(a) Civil Procedure Code 1861
(b} Indian Penal Cade 1858
() Queen’s Proclamation 1859
(d) Vemacular Press Act 1880

Answer options :

(1)
@
@

)
)
(4)

(a)
(D)

(i
(iv)

(b}

(c)

(@) (i)
@ 6 6

@
(1)

(i)
0

(d)
(iv)
(iv)
(iv)
(i)

FeeT IHTETST AT /SPACE FOR ROUGH WORK
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31. T wfeedt SR Hee T el
(1) IHw fee (2) AR S AEe
(3) Ten fiersit (4) TR gL
established the First Labour Organisation.
(1) Ramkrishna Shinde (2) Narayan Meghaji Lokhande
(3) Raghuji Bhikaji (4) Narayan Surkoji
32. AT ARSI G a1 U Y=t T .
(1) 3e foed aoE (2) Sl TR g
(3) El. SEsiEd T (4) ST =ies Heita
Under the Presidentship of the Janasangh as Political Party was established.
(1) Atal Bihari Bajpayee (2) Dr. Shama Prasad Mukharjee
(3) Dr. Jagjivan Ram (4) Dr. Neelam Sanjiv Reddy
33, dr e o
(a) T, TEAT SO Sem )y Y9 EEE
(b) FEHYR G5 (i) e FEAET
(c) WEI@aR! Fgdt (i) oFF R
d) AR 9l (iv) @S facam dfés
TEE I

@ ([ (@ (d
U @ @ @) (i
2 @ @@ ) @
@) @@ @) @ @
4 (v @ @) ()
Match the appropriate pairs :
(a) Liberty, Equality and Fraternity (i) James Stiphence

(b) Kayamdhara System (i) Lord Cornwallis
(c) Mahalvari System (i) Thomas Manro
(d) Rayatwari System (iv) Lord William Bentinck

Answer options :

@@ ® () (@
1 6 G (v) ()
() @ G (v) ()
(3 @) Gv) @ @
4) G(v) @ (@) (i)
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34. € Fatre fawea uew T
(1) o= (2) U R A
(B) WEHE frmm (4) I HE deA
was not the member of the Cabinet Mission.
(1) Lord Lawrence (2) A.V. Alexander
(3) Sir Stafford Cripps (4) Lord Mount battan
35, ‘'‘31r vieen U’ S - GURIN S R TAT9T hedl.
(1) e R (2) SRS St
() wisheE go (4) e o
The “Arya Mahila Samaj” for the reforms of women was established by ]
(1) Tarabai Shinde {2) Anandibai Joshi
(3) Savitribai Phule (4) Pandita Ramabai
36. | IR TEARRE dafad Brdl.
(1) =i st 2) TUES M
(3) ¥ vrd (4) T feed EfaeyA
organisation was associated with the Revolutionary Nationalism.
(1) Bombay Association (2) Home Rule League
(3) Abhinav Bharat (4) Land holder's Association
37. FOSA WaWHH A 16 SR 1932 st AwTE fErET S e
(1) T8 AwARs ) fo=a afds
(3) e daA (4) T I
The British Prime Minister declared the Communal Award on 16th August
1932,
(1) Ramsay Macdonald (2) Winston Churchill
(3) Neville Chamberlain (4) Clement Attlee

HoAl SRV AR /SPACE FOR ROUGH WORK
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38. 5 1948 Uil il TRAN 9w TR e TBUE v Ho.
(1) TSR gl ) s =g
(3) . TemrarEERt (@) . g
was appointed as the first Governor General of India on 5% March 1948.
(1) Shyama Prasad Mukherji (2) Sarojini Naidu
(3) C. Rajgopalachari (4) C. Chandraswami
39. ufes wfeen faamdte 1816 9 T wfra F,
(1)  ef=Tg SEhTE! (2) TogeR™ ot
(3) . e v (@) e %4
In 1816 the First Women University was established by
(1) Nathibai Thakersey (2) Vithaldas Thakersey
(3) Dr. Dhondo Keshav Karve (4) Godutai Karve
40, ' 9RdR sfesrd foem TEaRe Hee'' =t I BT e,
(1) foge umst fiie 2) wEfaen w5
(3) o LI e @) TR T
“Bharatiya Bahiskrut Shikshan Prasarak Mandal” was established by
(1)  Vithal Ramji Shinde (2) Jyotiba Phule
(3) Dr. BR. Ambedkar (4) Ramabai Ranade

41. @ Rewrte fade: SRqe sftn sfer foemite wiwnm srefi=m qee™ +15 =—oaw ?
(1 s () T (3) waas (4) TR

What is known as traditional irrigation lakes in Chandrapur and Bhandara districts in
Maharashira ?

(1) Johad (2) Malguzari (3) Farmlake (4) Watershed

HoAT HTHEE AN /SPACE FOR ROUGH WORK
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42,
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FGISh! S0l FHEdr1 (TR FF Fg® e 7

(1) W, TR, M, =R, HEFH

(2) WS, TR, &, HEHFATR, TR

(3) WS, M, AN, WERHETR, H=TR

(4) WS, W, TR, WEER, TR

Which of the following sequence of development of settlements is correct ?
(1) Village, City, Town, Conurbation, Metropolis

(2) Village, City, Town, Megalopolis, Metropolis

(3) Village, Town, City, Megalopolis, Conurbation

(4) Village, Town, City, Metropolis, Conurbation

43.

WA & {97 9 =3 s Ji ang sireT o .
e favrr AT

(a) ofy=m faam () HORER

() TE-ue faam (i) YITER

() 9o Tt fasm (i) EITR

(d) TR = faam (iv) w=IE (HE)

it I
@ () (9 (@

1 @ @ @) @G«

(2) (@) (v) @ @)

@) @) @ @

@ @ v 0 ()

Match the following Railway Zones to their correct centres :
Railway Zone Headquarter

(a) West Zone (i) Allahabad

(b) East-Central Zone (i) Bhuwaneshwar

(c) East Coastal Zone (ii) Hazipur

(d) North Central Zone (iv) Churchgate (Mumbai)

Answer options :
@ G (@ @

1) @ @ @ G

(2) @) @) @ @

@) (v @) @ ()

@) G) @(v) @) i)
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44, VRIS FIUG TF §1 2015 T+ Hfgg U4 (organic state) RO Wi &S 1 ?

(1) FES R (2) onfem
(3) ey (4) faferm
Which state of India is declared as organic state in 2015 ?
(1) Arunachal Pradesh (2) Orissa
(3) Tamilnadu (4 Sikkim
45. e ge Al ¢

Erbid I
(a) A () TSR ITTE
(b) e (i) e Frdam
(c) =R (iii) €A S gAfem
(d) swe (iv) feomeel
It 9T ;

@ () (© (@
1) @ &) @ @
@ @) @O @ (i
G W @ @ @)
@) (v) @) @@ @

Match the following :

Satellite Application
(a) GAGAN (i) Communication Satellite
(b) GSAT (ii) Earth Observation

{(c) CARTOSAT (i) Climate and Environment
(d) AGROMET (iv) Navigation
Answer options :
@ [ (© (@
1 @ @) @ @
2 (@) @) @ (@)
@) ) @ & (@)
@) (@) @) @ @

ol HIHEET JW /SPACE FOR ROUGH WORK
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46.

24 A
TERIT Hald A TS I 7.
1) T FEESA T aFES (2) AT S HT Sl
(3) TTH &g AT SRS (4) T SEEeed T FEES

In Maharashtra maximum migration is from ___to
(1) urban centres to rural areas (2) rural areas to rural areas
(3) rural areas to urban centres (4) urban centres to urban centres
47. wRaren 92 feEn Sere T waka SfauEie fem oA 1 6945 ST STEgTER
3T,
(1) R WEE dide (2) TYNEE €T it
3) e iz (4) TR 9iEe
in Great Nichobar Island of India is the last place towards south, located on
6°45" North Latitude.
(1) Vir Savarkar Point (2) Subhash Chandra Bose Point
(3) Indira Point (4) Jawahar Point
48, W fauFT F0a s Haer

(1) Werem iR, ds, o @ oI faeem SaEed 9id .

(2) WRRTN hiearqy, WWHH, foyg 9 Tos foewm Sty 98 s
(3) HERITRT 9EqR, e, Jaauie § syl foeam sieudes | SR,

(d) FERISIT SEHGH, e, gTaR & v fSieand aiFdge 98 3o

Choose correct answer from the following statements.

(1) In Maharashtra Aurangabad, Beed, Jalna and Buldhana districts have depositions
of bauxite.

(2) In Maharashtra Kolhapur, Ratnagiri, Sindhudurg and Raigad districts have
depositions of bauxite.

(3) In Maharashtra Chandrapur, Bhandara, Yevatmal and Vardha districts have
depositions of bauxite.

(4) InMaharashtra Ahmednagar, Dhule, Nandurbar and Nasik districts have depositions
of bauxite.
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49, TENKT Gfte Wedidl SfvHgT IWEs 9rd FH for,

(1) Yo, frrag, e, T
(2) e, TG, A, e
(3) Tasagd, i@, Temgd, e
@) emgd, N, foasag, v

Write correct sequence of the following creeks of Maharashtra from South to North.
(1) Terekhol, Vijaydurg, Dabhol, Rajapuri
(2) Dabhol, Rajapuri, Terekhol, Vijaydurg
(3) Vijaydurg, Dabhol, Rajapuri, Terekhol

(4) Rajapuri, Terekhol, Vijaydurg, Dabhol

50, TERTEM AW, NeUHSr, B, Hodl 3. 98 Woaust Hivdl Yo STuad ATeesdr /
(1) SwElEadE TeRia (2) SwmRfcada M geriE
(3) 39 IUmpfeET wemEia (4) IUEHREHE AR RS

Nagchampa, White Cidar, Jackfruit, Kavasi etc. trees are found in which of the following
type of forests in Maharashtra ?

(1) Tropical Evergreen (2) Tropical Semi Evergreen

(3) Sub Tropical Evergreen (4) Tropical Moist Deciduous

AT FH/IMEIS A /SPACE FOR ROUGH WORK
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51.

26 A

RIS Wi SToid= ASHo fSegma= ) 3ra Sire orT :

(a) <EET () R

(b) I @) go=mn
(c) TS (i) g

(dy Te&m (iv) SIS
it Iy

@ (b)) {) (d)
D @ @ @ @
(2) ) @) @ @)
(3 () @ @) @)
@) (D () G (i)
Match the major irrigation schemes to their correct districts in Maharashtra respectively.
(a) Devghar (i) Nashik

(b} Punegaon (i) Buldhana
() Manjra ({iii) Pune
(d) Nalganga {iv) Osmanabad

Answer options :

(a) (b) ()} {d)
(1) G0 (v) @) @G
2 Gvy (@) @ 3G
@) @) @ v G
@ @ Gv) @ (i

52.

Tere faurier faar %1 .
(a) WREETR ¥ I9TE WK (Satellite Town) 32,
(b) © vt feeoen <o 25 o, s/ TRg® gt Ssoe 3R,

Fltote! IR faaH SR 3/ s ?
(1) wH (a) ) wH (b)
(3) (a) 301 (b) AR @) (a) 3O (b) = TR

Consider the following statements :

(a) Faridabad is a Satellite Town.

(b} It is 25 km South of Delhi and well connected by transportation facilities.
Which of the above statements is/are correct ?

(1) Only (a) (2) Only (b)

(3) Both (a) and (b) (4) Neither (a) nor (b)
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53. WIS R WSS Wedl 9 Fi 4g SiSdl oM@l

s
() T (i
b) (id)
(¢ SR (i)
(d) v (iv)
et I

(@ (b} (o (d
M @ (@ (i ()
(2) @) (@) (v) (@)
@ v @ @ @
@ @ @) @ (i

Match the following Creeks and Rivers in Maharashtra.

Creek
(a) Manori (i)
(b) Bhateya (i)
(©) Jaitapur (i)

(d) Dharamtar (iv)
Answer options :

(@) (b} () (d)
QO ®H @ @ @)
(2) (i) @ (v) (i)
@y (v) @ @) @
(4 @ Gv) @ (i)

River
Kajali
Patalganga
Dahisar

Kajavi

uos
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54.

(a)
(iv)
(iv)
(iv)

(i)

(1)
@)
(3)

@) (iv)

Match the following :

River
(@)
(b)
(c)
(d)
Answer options :
(a) (b
(iv) (i)
(iv) @
(iv)  (ii3)
(i ()

Tapi
Manjara
Pravara

Bhima

(1)
(2
3)
©)

28

(1
(1)
(i) g
(iv) 3¢

(d)

Tributary
(1)
(i)

Tawarja
Ghod
Mula
Aner

(iv)

(d)

THeAT HEES AT /SPACE FOR ROUGH WORK
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55. WrAH TEER yH o feRiean 9 sied e,
(a) 40T 50 |1 (i) o
(b) 501 75 @A (@ T
(© 754 100 9. (i) HTS
(d) 100 T 150 .71 (iv) @O0
i S
(@ (b) (o (d
O @ 6 v G
@ 6 @) @ @)
@) @) ) 6
@ ) @ @ @
Match the columns of Monsoon rainfall with respective districts correctly.
(a) 40to 50 cm (i) Latur
(b) 50to 75 cm (i) Nagpur
(¢} 751to0 100 cm (i) Sangli
(d) 100 to 150 cm (iv} Buldhana
Answer options :
@ (b (g (9
1 @ @ v (@)
2 @ @@ @ @)
3 @ &) @ @
4 (v) @ (D) @)
56. e % € e/ MR ¢
(a) fafma wrem () Heamus
(c) W (dy foofaa ot
Fet®! Hm faum/ faus aiew SR/47?
(1) %R (a) 2 @30
(3) HH (o) (@ TowE
The following is/are the Functions of money :
(a) medium of exchange (b) measures of value
(c) store of value (d) standard of deferred payment
Which of the statements given above is/are correct ?
(1) Only (a) 2) (a) and (b)
3) Only (0) {4) All of the above

HoAl HIAHG FAT /SPACE FOR ROUGH WORK
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57.  2013-14 HYi® YA e aoieds! SR 8F et T e ?

(1) I (2) wfedt dxgH

(3) o u A wiS (4) UG Fwfed AR

Which of the following sector is highest in Indian export during 2013-14 ?
(1) Agriculture (2) Information technology

(3) Ores and minerals (4) Manufactured goods

58. T 2012-13 = W3 Tl d6h=0 OIER WEe S AT ugHdi e

S Wt/ T LRl
(a) THG FH @ T
(b) facsd = (i) AFS dF
(c) Tt @it SAre S6 (iii) 7w §F
(d) TR E ST $F (iv) =9 ¥H
et W

@ (b) () (d)
1) (@) @ @ )
2 @ @ >v) (@)
3 O Gv) @) ()
4) @) @ (@) (3Gv)
As per profile of Bank 2012-13 (RBI), match the columns :

Type/Structure of Banking Name of the Bank
(a) Nationalised bank (i) Woori Bank
(b) Foreign bank (ii) Nainital Bank
(c) Old Private Sector bank (i) Andhra Bank
(d) New Private Sector bank (iv) Yes Bank

Answer Options :

@ (b)) (o) (d)
(1) () @ ) @Gv)
() ) @ @v) (i)
G O (v @ ()
@ 0 @ @) v

el HFMS AR /SPACE FOR ROUGH WORK
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59. 2006 HLA FHH ITHAE AT S @HGS! R Wisas Ao W EELCHR
ST
(1) T25 @@ dT5 it qmeA (2) T 5 FrEsn HH

() TS5 HE A T10 FE aw (4) T 10 HETde S

In 2006 medium - scale enterprises defined as undertaking with fixed capital investment

(1) between I 25 lakhs to T 5 crores (2) less than X 5 crores
(3) between T 5 crores to T 10 crores (4) more than ¥ 10 crores

60. T SareETn WS (UP) THmE Suldie SeomMyT deddl QUi %ot Sal.  wefe
[P =41 ST qrETYd = €
(1) 1993-94 2) 2004-05 (3) 2005-06 () 1999-2000

HP (Index of Industrial Production) has been revised from time to time by shifting the base
year. Currently, the base year for estimating IIP is

(1)  1993-94 2)  2004-05 (3)  2005-06 ) 1999-2000

61. URAd USTT IO ST B0 Fo@e § 'ad” gHe 91 ?

(1) 1sHaEr 31 fedar (2) 1 s T30 G

@) 1939307 (4) 1 e w31 T

Which period is called a ‘year” while measuring the National Income in India ?
(1) 1 January to 31 December (2) 1 October to 30 September

(3) 1 July to 3D June (4) 1 April to 31 March

62. TETEA WEHER THAA TR g A1 YR WHR &, W6 Goiegs! B &% o
Tiee onfh gEtwiam e 9vm 390 ?
(1) facsht 4= (2) wrEstR &
(3) ¥Ri & 4) fadrg &5

After Independence India followed the policy of planned growth. Which sector was
given the dominant position and was made the main instrument of growth ?

(1) The Foreign Sector (2) The Public Sector
(3) The Agriculture Sector (4) The Financial Sector

®HoAT HIMTAES S /SPACE FOR ROUGH WORK

Pl TC O‘




uos 32 A

63. 2011 < SFUFTER T HATREETE Jaese v Bt om ?
(1) 70% (2) 65% (3) 54.6% (4) 30%
What is the percentage of agricultural workers in total workforce according to
census 2011 ?

(1) 70% @) 65% (3) 54.6% ) 30%

64. WHdl T T YARTAAIE FU HET SAE ?
(1) HEI™H
() TmEE
() TEIwE q TEH
(¢4) ot T
Bank rate is instrument of which type of credit control ?
(1) Quantitative
(2) Qualitative
(3) Quantitative and qualitative
(4) None of the above

65. WYMEE WafHE eEeiald ARO @ W@ oidd IGHH oM. v e TR fear
BV MR, Y AIATIANG IR Scqe AT FIEE FHE Y. 91 /e wifn e
IR S RO 3T ?

() A A= HY FH R

(b) T FHia Swde TEifed anT

(c) <R, arqgE A Haveed s 99 g8

(d) TR THESUITE YR qgH

e 36T

1) (a) 3 (c) @ (b) 3 (o) @) (o) s (d) (4)  (b) 3t (d)
In Japan, fishing is a major economic activity in the primary sector. India has a vast sea

coast but the output of fisheries is rather small. Which two reasons for the limited growth
of this sector ?

(a) Slow growth rate of services sector

(b) Domestic demand for fish is limited in the country

(c) Steady growth of trade, transport and communication
(d) Traditional methods of catching the fish

Answer Options :

(1) (a) and () (2) (b)and () (3) () and (d) (4) (b)and (d)

o HMTETS W /SPACE FOR ROUGH WORK
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66. AN STEE 2012 <A1 UGS THHTER 2009-10 Tea =T Fowal 9= 999 FHiE
BT ?

1), BT (2) AforgE (3) SURY (4) far

According to the press note of Planning Commission 2012, which state ranks first in poverty
during 2009-10 ?

(1) Chhattisgarh  (2) Manipur (3) Uttar Pradesh (4) Bihar

67. TReH Qe ww 2011-12 7L -
(a) WRATHS 29.5% BFEEA TMEIIES R,
(b) I YA 30.9% FHFHE d Vel WIS 26.4% Jhe IR=NTEES .
FBUH! FIvE faem/ foum aieg sR/9 ?
(1) H (a) (2) %H (b)
(3) () () (4) wEIH TG
According to Rangarajan Committee is 2011-12 :

(a) In India 29.5% population is below poverty line.
(b) Inrural area 30.9% population and in urban area 26.4% population is below poverty

. line.
Which of the statements given above is/are correct ?
(1) Only (a) (2) Only (b)
(3) (a) and (b) (4) None of the above

68. WSS SIUH! HIVM Uk o8 FUET 38 ?
(@) I &de GY e/ S Saees gat s TEEEr .
(b) e T THEhE AT STl ISt 4! Foe! g6,

(1), FE@ () (2) *EE (a)
L (3)  (a) IO (b) (@) aiedw @

Which one of the following two statements is correct ?
(a) Overcrowding of agriculture has led to disguised unemployment.
(b) Over the last few decades, unemployment in the industrial sector has decreased.
Answer Options :
(1)  Only (b) (2) Only ()
(3) N (a) and (b) (4) None of the above
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69. T <TG IURA (G.D.P.) =1 e 318 ¢
(a) TS ULH I9=”A (G.N.P)
(b) T TgE A (N.NP)

(c) T uren Hivaa Saied @oer 9% 9 6al

(d) WER 9
Thets! wvR faum,/3 aET oy ?
(1) (a) ®K @ @3F®BER (3) () FKF 4) (d) wH

The meaning of Gross Domestic Product (G.D.P.) is :

(a) Gross National Product (G.N.P.)

(b} Net National Product (N.N.P.)

(c) Production of goods and services in the country’s own territory
(d) Government Income

Which of the statements given above is/are correct ?

(1)  (a) only (2) (a)and (b)only (3) (c)only (4)  (d) only

70. 2011 <A1 SAMURTRR 3@ Toamed 9 geuiAr faraist Fen fadt et ?
(1) 1032 (2) 1040 (3) 1058 (4) 1084

What is the number of females per 1000 males in the state of Kerala according to
census 2011 ?

(1) 1032 (2) 1040 (3) 1058 (4) 1084
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71. FEAWIG CToRiiean HErEEH ST Howl qaEvil BICHISER L))

(a) A FESD AW FASUATEG

(b) TEATAH FUE! FSATS THSTARIEN

it I ¢

(1) faum (a) ¥ 9@ 278 W faum (b) ¥ o9 T’

@) f5um (@) T s o W f5um (b) ? ¥ AR,

(@) &= faum (o) aftn (b) § IR

(4) U fauM (a) onfor (b) ST eTRA.

The Ultrasound Scanning is useful

(a) to examine the defects in a foetus

(b) for determining motion of heart valve

Answer Options :

(1) (a) is True but sentence (b) is False

(2) (a) is False but sentence (b) is True

(3) Both sentences (a) and (b) are True

(4) Both sentences (a) and (b) are False
72. TSI 10 TIREMNID TR A THHHS Hele WHvIrEEt 63l ?

(1) =B (Whale) (2) 7= (3) i 4) oo Td

Who of the following use infrasonic waves to communicate with each other ?

(1) Whale (2) Rhinoceros (3) Elephant (4) All the above
73. = UV NG Waidl At Wi Al Seodl degl s /E _ Jnefaa.

(1) = (2) oRER @) fagom (4) dCTEE

When we change feeble sound to loud sound, we increase its : o

(1) Velocity (2) Frequency (3) Amplitude (4) Wavelength
74. VF TR TS TR YAOATER et gar v e S 2

1) 1f&= (2) 10-20 fFer (3) 15-22 f&eh (4) 100 fox
How much air inhales every individual person approximately a daily ?
1) 1kg @) 10-20 kg (3) 1522 kg (4) 100 Litre

oAl RIS AET /SPACE FOR ROUGH WORK
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75. TE@NE TR UG SehRIoHs] SIS HI W (enzyme) ATHRA ?

(1) TS () WS (3) SRS (4) wEES
The enzyme which can catalyse the conversion of glucose to ethanol is :
(1) Invertage (2) Maltase (3) Diastage (4) Zymage

76. <HIOE a1 ‘T e s’ @1 HRUIE Tl

(1) EA SRS (2) srasA
(3) TEgRA 4) &R
Which gas is Responsible for “Green House effect” ?
1) €O, 2 O,

G) Ny 4) O4

77. QS S gl

(@) fed () e
(b) SArRTH (i) YIS
() St (i) T
(d) wTERE (iv) siffast
i I

(@ ® () ()

M @) G (v) (D)

(2) () @v) @) @

) O av) (@) (1)

4) (v) @) @ @

Match the following :

(a) Leech (i) Pisces
(b) Octopus (i) Reptilia
(c) Dogfish (iii) Mollusca
(d) Stegosaurus (iv) Annelida

Answer options :

@@ (b) (o) (d)
1) @ @ & 0
(2) (@) @v) @ (@
@ @O @) @ @
@) v @) @
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78, FfESHar=n EABIR! IR S TOTRH Fegchach AU GEThEd did ke 7 3R ?
(1) vl (ToNeR) (2) IR (FRFHSHI)
(3) SR (EEREe) (4) Ut (Sifeeme)

Presence of a macronucleus and a micronucleus is the characteristic of which of the
following classes of protozoa ?

(1) Flagellata (2) Sarcodina
(3) Sporozoa (4) Ciliata
79. TEMIE (Gastropoda) Fide MRS Had e (valve) T 3740,
(1) T84 (Double) (2) TR (Single)
(3) HMsh (Quadruple) (4) fa@d (Triple)
Class Gastropoda include snails with valved shell.
(1) Double (2) Single
(3) Quadruple (4) Triple
80. el oM :
(a) ToREY (i) M A AR TR A
(b) TRrEE" (i) ¥ TR 2Ry
() Traferd (i) vEEE BB wEdl
d) ST (iv) BroRRTE gehHe
@y 36

(@ (b} (o (d)
(1) @ @@ @ Gv)
2y () @@ @ @)
(3) (v) (@) @ @)
4y (@ @@ 3Gy @
Match the following :

(a) Holotype (i)  When nomenclatural type is missing
(b) Lactotype (ii) Original nomenclatural type

(c) Neotype (i) When holotype is missing

(d) Isotype (iv) Duplicate of holotype

Answer options :

(@ (&) (9 (@
(1} @) @@ @ )
(2) @ @ @ @)
3) @v) () () @)
(4) @) @) Gv) @

THEEAT FHIHMETS W /SPACE FOR ROUGH WORK
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81. TN ¥ HETE WINEEST FTCIIA AEIS! Wooud! FE F

(1) Ol 7 gRA o arefa

(2) TS deen 9aT=d fwda W =4

(3) 3% WATHMAT FHETag F

(4) TOTS ¥4 vEE

| Potassium is very important nutrient for plant growth, because :
(1)  the entry of water along minerals is improved
(2) itis involved in organic acid metabolism

(3) itis a activator of many enzymes

(4) all of the above

82. TECIoAT WMUR Foaldle Had o1 MSIHEE VT AW, FHe T4 e €, & tiRea|
1 /S ?
(1) STFEREHEA (2) FEe
(3) omfEroE (a) TeroEs

Root nodules of leguminose plant contains colour pigment responsible for nitrogen fixation
which is called as __

(1) Anthocyanin (2) Chlorophyll
(3) Leghaemoglobin (4) Haemoglobin

83. WETH! FR gogA fedia @12 A1 SHhaTaam w2 a) ?
(1) wifessTq (2) WawE (3) i (4) W
Which of the following elements is component of Vitamin B12 molecule ?

(1) Molybdenum (2) Cobalt (3) Manganese (4) Copper

oAl HIFTES 9T /SPACE FOR ROUGH WORK
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84. gAY federdm wmmm: frar-dismame =, Y fohar foam, St wgfd T T&d | Sars
TeEemel faum sted, wieme yeria SR I o, wrtetat Fivmn famy @ g
FROYA ST A el

1) Tedersd u faurg @ Federgdy o faumg
(3) federgdia <t fammy (4) federsda it famoy

Infectious hepatitis is usually transmitted by fecal-oral contamination of food, drink or
shellfish that live in contaminated water and contain the virus in their digestive system.
Name the causative agent of this disease from the following.

(1) Hepatitis A Virus (2) Hepatitis B Virus
(3) Hepatitis G Virus (4) Hepatitis C Virus

85. WEAGIH! P TR T 0 ?
(a) T Ao famed FraE FROME R,
(b) TEIS HIgH fa9ed &€ veham.
(© foam 3 9ol wrEss fgueT FUm $2F .
(@) o dicd g faued &% wod e,
At I
CS N CYACY 2 (@) ) © (3 @ @) TR TR
Which of the statements given below is/are correct ?
(a) Fungi are responsible for deterioration of petrol.
(b) Microorganisms can deteriorate metals,
() Bacteria and Fungi are agents for deterioration of plastic.
(d) Bacteria are unable to deteriorate cosmetics.

Answer options :

1 @ @ (2 fa), ®)(© 3y Al (4) None
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86. @ fXem faura [ 9 I 1 swiski=t TEaS fodl oga. TEias =S 9 FE A 9 4ET
e, WWWW%WWM/WW%MW%(WW)
R/ 3ea ar=n fAvie o

faum: v OVE Hol- R SO avREl SuarEE G FL
TEAR : (1) T ] Yool Ul
() <ETd Tl 31 3T AR,

vt 39
(1) TR (1) At . () TEEE (1) e AR
(3) (O (1) e A, (4) 32 T (1) snfir (1) SHafifed smea.

A statement is given below followed by two assumptions numbered I and Il. Anassumption
is something supposed to be or taken for granted. You have to consider the statement and
assumptions and decide which of the assumptions is/are implicit (indirectly suggested) in
the statement.

Statement : Ramesh advises Umesh - work hard to be successful in your life.
Assumptions : (I)  Umesh listens to Ramesh’s advice.
(1) Being successful in life is desirable.
Answer options :
(1) Assumption (I) is implicit. (2) Assumption (II) is implicit.
(3) Either () or (II) is implicit. (4) Both Assumptions (I) and (II) are implicit.

87. M,T,|,R D, WammQ ==t A, B 301 C I MY TaH Fd Rd. TdF M fFam
3 e G, w1 4 wiee oTH TaE ME TH BEel 9R. T 91 Afdae wad Q T
el Fare FU5E AR 4 @1 B MEA To8 &4 3ed. M & st A I e Jad
FE AR, D T W A1 i C MERA TAE FIq TR, | & et wfgen e | w g e
Tfeer SR, aXJ & Hadl FIUE MG T HG 3R ?

1 A (2) B @B) C (4) ITH! TR R

Persons M, T, ], R, D, W and Q are travelling by cars A, B and C. At least two persons are
occupying each car. Among them three are women and there is one woman in each car.
Person T wants to travel only with Q and they are travelling in car B. Person M is travelling
in car A, Persons D and W are not travelling in car C. Jis not a woman and W is a
woman. Then bv which car person | is travelling ?

1) A (2) B @ C (4) None of these

oAl HUTAS FAT /SPACE FOR ROUGH WORK
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88. HETSAl IMFHAE VAR we fEfasaaia sty fafoess smoea 9 forRnds &
1 =% e, fres fagiaar R s dieds fgH 9@ B ofe it sgem=n

Hiren sfie g Hen 1 e | T STFS 1+g-1 T ST, TN e
Tt A8 W feded TR 9gyerE Se%e 91 tEeE fael

(1) 15 2) 16 @) 17 (4) 18

In accompanied diagram distance between any adjacent dots horizontally and vertically
is 1 unit. According to Pick’s theorem if B is the number of dots on the boundry of the
polygon and Iis the number of dots in the interior of the polygon, then area of the polygon

is givenby I+ -g. — 1. Select the area in square units of the polygon from given options.

If you are sure about the formula.

(1) 15 ) 16 3) 17 @) 18
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89. T Tl AHWIAT HEAF F AN X A Y v Forat fagen S ore FTnieEs v
STEVIR T4 ¥ AA Seierom waE fae,

T T IHAA a5 T I
a’mﬁmnﬁa@m

Evaliiea

—Y fr
I

1) 5 @ 7 (3) 9 @ 11
Study accompanied road map and select the option that indicates all possible routes from
X to Y without touching a point twice.

Curves and lines with two arrows
indicate two way routes

A B

A — ——

N@i;ﬁ_
A

(1) 5 2) 7 @) 9 4) 11

90. Y3 HfAn T fadhdn Foe wes fae S,
chikerkurrip W9 tirdhouse; phyckurrip ™Yl bluebird & phycbrell RS bluebell.

houseguest & W Ffan WS Haa el

(1)  dropchiker (2) chikerrdrop (3) chickerrphyc  (4) bellchicker
Given below are some words decoded from artificial language.

chikerkurrip means birdhouse; phyckurrip means bluebird and phycbrell means bluebell.
Select the code for houseguest in this artificial language.

(1) dropchiker (2) chikerrdrop (3) chickerrphyc  (4) bellchicker

91. Wad=a G4 i faEa 91 fEe

|

Select odd set of arrows from accompanied sets,

lﬁ % I
v A+ i% G) ﬁH @) *%({’

oAl SHIHATAS! 9N /SPACE FOR ROUGH WORK
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92. ¢ fooran mfeh= Hewia S HER TH! FRT=A1 TEHegT g ST o TH! S8 SoaHS
B AR & T AT ST A8 AR S E G Saieher fael sigoen ufn H
I ITAAFZA GEAT SO SR T IR,

ABCDEFGHI]

1) 1T (2) D 3 H 4 A

What letter comes second to the left of letter that is immediately to the right of letter that
comes four to the letter that comes midway between the letter third to the left of letter E

and the letter two to the right of letter H, with respect to following sequence ?

ABCDEFGHI]

1 ] 2 D Gy H 4 A

93, T TE! YS YSIE QA SThdid qrEaeary Al Fel s Tt Traodt ed. e T trasen
TREHE JRE @HE sHoa 1 e,

fa= firaeat
(1) igy Teen @1 (2) o fehen i ke AR
(3) WA AR 4) W wieq

Surfaces of the cube are coloured with six differcit colours as shown in following figures.
Select the colour of the surface that is definitely opposite to blue coloured surface.

Green,” | Yellow
<9 %,
White S Red
(1)  White or Red (2) Red or White or Orange
(3) Only Orange (4) Only White

AT SHTHETS AT /SPACE FOR ROUGH WORK
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94, TH WIS FGI WHA TIdl. AR e fad 9w Saa T 4¢ feem, S 6 gl Jae
U@ a4t fremdedt WA g B onfo &t weliwh daead T 100 3. S it Hean e
@ e fasmene i 30 1 .

o YFRSd Yeamie A9eo! TWhR TEaur gata faen

(1) 93.75 () 92.75 (3) 90 (4) 9150

A devotee had some amount with her. She visited four temples on her way. As soon she
steps inside each temple whatever amounts that is with her gets doubled and she offers
¥ 100 in each temple. When she returns from the fourth temple no money is left with her.
Select the option that indicates the initial amount that devotee had with her.

(1) 93.75 (2) 92.75 {3) 90 (4) 91.50

95. e & foem T IS i I s ] T fot Srewi R At fres fs 9.
d TS AEBHR AHS T o WEANPR 31 390 Bd. TN gl (Rl @ "ifawt
3RA.
3Te.

T\ TEgren ol aHee! .

feose yataiqa Wil Faard d st -

(1) 3 foomn snen Fa=ai=a I S9edl ARd a1 e aral diiedl seede 3

(2) T

(3

(4)

Yesterday, Aisha and her husband, had invited, two couples with different sex, their
neighbours, for [ftar party. They all sat in a circle and food is placed in the centre. Aisha

gave you following facts.
Dany sat to the left of the woman who sat to the left of a man who sat to the left of Anu.

Esha sat to the left of the man who sat to the left of the woman who sat to the left of the
man who sat to the left of the woman who sat to the left of my husband.

Dinu sat to the left of woman who sat to the left of Raja.

I did not sit beside my husband.

Select the name of my husband from options.

(1) It is necessary to know whether other women are sitting beside their husbands or

not
(2) Raja
(3) Dinu
{4) Dany

oAl HUMEE AT /SPACE FOR ROUGH WORK
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96. < X TN UREYIsh I STEHd! TS Ue! Wi SHafaearysm 3hdl fied /e o ot quqa

Wﬁm'ﬂﬁfzﬂa?
f]_]i
""" 9
\ =3 —
(RN @ O @ | < @ [

If the transparent paper sheet X with figure on it is folded to get fold with figures as
shown, how would it look like when it is unfolded completely ?

b f/ U

T
Q% =5 1z
M) %D @) i @ | < @ >

97. St Galyg ¥ Ieoearen Uan fafire foavft Suam wwm snfnn waa o feavit ¥ aoa™. 3
T4 feayht el G sioan. wREe Aur 99 feami @ gEe G S

foad 1; ‘ot SiwErd anfon SeEr ©E dedl.
fegm 2. ‘o9 TEaAR, Waar fFar wiEr o,
foam 3. o quar s IEaR @R wet.
1 g = feav waa 9 siead o= e &1,
(1) HHaR (2) AR (3) FuER 4) AR

Shree Sarvapriya observes fast on the particular day in a week and speaks truth only on
that day. On all other days he speaks always lies. He made followmg statements on three
succéssive days :

Day 1:  “I lie on Monday and Tuesday.”

Day 2:  “Today is Thursday, Sunday or Saturday.”

Day 3:  “I lie on Wednesday and Friday.”

Select the day on which Shree Sarvapriya speaks truth only.

(1) Monday (2) Tuesday (3) Wednesday (4) Friday

el FHIUMEIS AT /SPACE FOR ROUGH WORK
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98. HwA=q FIEET L MSA T9R F0 I 3 3790 wfamr=t fas =1

(@) (b) (c) (d)

M (a), (b) 2 (9 @ 3 (© (9 @ () (b)

It 39T

Select image/s that can be composed by folding accompanying paper sheet :

@) (®) (c) (d)

1) @ ®) 2) (© @ (C/RRGACY #) (9 ®)

Answer options :

99, T 3T VWER, 1 31z 3R suftr srauman wfEer feaw ame o Femangs 29 = feastt For faaw
7 Afe JoR ?

(1) T=ar, gEm (2) TRAR, MIZUR
(3) WHER, gEw (4) FUER, TIZUS

If today is Monday, August 15 and 1% day of Shravan then which day and month will
come on 29t day from tomorrow ?

(1) Tuesday, Shravan (2) Tuesday, Bhadrapad

(3) Monday, Shravan (4) Wednesday, Bhadrapad

oAl RIS AT /SPACE FOR ROUGH WORK
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100. TF T IWHGH e 9Rd MR, W AT ff TEHS qBd 9 ThEsiiadt stefads wa snf
T TETRE FEHM F61 dod d A WL A1 Taon = Fioreen iR 9 e ?
(1) W (2) = (3) fe=m @

A river flows from north to south. On the way it turns left and go in semicircle round

hillock and then it turns left at right angle and continues to flow. In what direction the
river is flowing at this point ?

(1) North (2) South (3) West (4) East

-000-
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AT — (795 1 a6 3....)

®) veufarsns fafen Foom faftre Srite = &9 (16 a%) =@, gEfeossafafta swafEst @
IR FIEER Fod FF FeAE  FIY FOI=T I F0 AR, FH 7S T 9 TIEK SHEEEH
AN S Shesear it B oy wiaay soaremsed Sfufae-82" ARt dgEgan HRan
FOE Ao § AN S FUG T quren SRS i/ fFa 798 T R s oo fhem
I 8.

(9) TR wREE FrrT fafed FOU G2 WIEAHW eI B TITIRam! Wd: a6 TOaThaee]
U IUOTE TAT R, UTA USSR ST SrargEt IRTErt ueE S ST WIT- 1
ARANFIFS 7 Faaear v &0t snavas

9. . 201.

Y. . 201

AT W9
HAH! 910 T AR B ge: THe 50 7
(1) @ TAT JeEd @ TErER fammarm
@) T aEEE 9 @) TR TR
T W AT I (3) T THAERA U9 o MR, W W W R I Y (3)" dde, A
WIATTRTT Tv %, 201 Fe SR-FwEE Q)" ¥ afe quivd wEife e gt

ONON MO

3T TEA WA TAYRGRdIe Wad FEET quEl SAGRATS 81 grerel Wil iaeed
ITEEAFTLS =M A THASBAREHRG Hafya ages ool BHifeg $&7 Jra@aE). Wi
e ThTeodl PR S Eioaq aaiTd, Uf-ass a1 ymést U= amae 4.
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